M
AC
=)
&
=

GEE®R

A10163 | X BHAB SV EL

kS ERDOERXR/NN> Ko

OSSR EIMH - XL LI,
mEI—F A10163 HXHEHKRARI EL B (nm)
FAZ | B | BOB | nreris YT A
0014 75A 3 84 | 23] 25 | M8x25 | 2 80
0029 | 100A 4 109 | 23| 25 | M8x25 | 26 60
0033 125A 5 134 32 | 32 M8 X 30 36 10 50
0048 150A 6 159 32 | 32 M8 X 30 36 10 50

A10164 | BXBZAB S 1

kSR ERDERXRB/N> Ko
@ [A10163MEXHEHKAM 2 V| L | IC[A10312MmAZ ] £ty b ULAESR,

Q@R E D > E L L,

@mBEI—KN A10164 HEXHBHKAB I F B4 (mm)
PAZ | B | FOR |, FEfEARIL b BRI AK
IR B | T | mewam | v | o RN H ™ [t

0011 75A 3 84 23] 25| M8x25 | 26 | 96| W% | 80
0026 | 100A 4 109 23|25 | M8x25 | 26 |108| W% | 60
0045 | 125A 5 134 32|32 | M8x30 |36 |143| W% | 50
0050 | 150A 6 159 32|32 | M8x30 | 36 |155| W% | 50

A10165 | TNB& V&L

Mk —J&%E (FDP) A DIRFX R/ N,

@A TXA—H— LN ENEDNELEBZENHNET, TEBCLZS L,

@EREIN®D - T LIS,

@mBEI—F A10165 TNRZEL B4 (mm)
HAX o || emas FEfFARIL b A B
-k YA X | EEEHE| t C BxXEX D F (A
0019 40 63 23 | 25 | M 8x30 | 26 8 200
0023 50 75~ 76 | 23 | 25 | M 8%X30 | 26 8 150
0038 65 91~ 92 | 23 | 256 | M 8%X30 | 26 8 130
0042 75 104~105 | 23 | 25 | M 8%X30 | 26 8 130
0057 100 131~132 | 23 | 25 | M 8%X30 | 26 8 100
0061 125 158~159 | 3.2 | 32 | M10%x30 | 36 10 60
0076 150 185~187 | 3.2 | 32 M12Xx 45 36 10 50




